Classroom Voting Questions:
Multivariable Calculus

13.4 The Cross Product

. The cross product of 27 and 3j is
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. For the vectors @ = 41 — ] + 2k and b= —i + 57 + 3k, the cross product @ x b is

(a) —13i + 147 + 19k
(b) 13i 4 145 — 19k
(c) —13i — 14j + 19k
(d) 13i — 147 — 19k

. é vector that is normal to the plane containing the vectors a=4i—7j+ 2k and
b=—i+5j+3kis

—13i + 14 + 19k

13i + 14j — 19k

—13i — 14j + 19k
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5. For any vectors @ and U, 4 X U =¥ X U

(a) True, and I am very confident
(b

)

) True, but I am not very confident
(c) False, but I am not very confident

)

(d) False, and I am very confident
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6. For any vectors @ and v, (4 x ¥) X (U x @) = (U x @) X (4 X U)
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(a) True, and I am very confident

(b)

(c) False, but I am not very confident
)

True, but I am not very confident

(d) False, and I am very confident



